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e Since , the density will decrease.

Aisincorrect as mass remains constant, as noironis being added or taken away.
Cisincorrect asvolume increases, it does not decrease.

Disincorrect as the block’s internal energy willincrease as its temperature rises; it does not
decrease.

The correct answeris B because:

e When metals become warm, they expand. When metals become cold, they contract.
o [f thewireis already tight between the pylons, then any contraction of the wire could cause it to
break.

Aisincorrect as this could, and would happenif the weather became warmer, not colder.

Cisincorrect as the temperatures over which weather can change are not likely to make the wire
brittle enough to break.

Disincorrect as the wire does contract, but, if anything, its resistance would decrease, as resistance
falls with temperature.

The correct answeris A because:

e Thetotalenergy storedinside a systemis due to the particles that make up that system having
motion and positions relative to each other
o Thisistheinternal energy of a substance
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e Since , the density will decrease.

Aisincorrect as mass remains constant, as noironis being added or taken away.
Cisincorrect asvolume increases, it does not decrease.

Disincorrect as the block’s internal energy willincrease as its temperature rises; it does not
decrease.

The correct answeris B because:

e When metals become warm, they expand. When metals become cold, they contract.
o [f thewireis already tight between the pylons, then any contraction of the wire could cause it to
break.

Aisincorrect as this could, and would happenif the weather became warmer, not colder.

Cisincorrect as the temperatures over which weather can change are not likely to make the wire
brittle enough to break.

Disincorrect as the wire does contract, but, if anything, its resistance would decrease, as resistance
falls with temperature.

The correct answeris A because:

e Thetotalenergy storedinside a systemis due to the particles that make up that system having
motion and positions relative to each other
o Thisistheinternal energy of a substance
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4 e Since , the density willdecrease.

Aisincorrect as mass remains constant, as noironis being added or taken away.

Cisincorrect asvolumeincreases, it does not decrease.

Disincorrect as the block’sinternal energy willincrease as its temperature rises; it does not
decrease.

The correct answeris B because:

e When metals become warm, they expand. When metals become cold, they contract.
o [fthewireis already tight between the pylons, then any contraction of the wire could cause it to
break.

Aisincorrect as this could, and would happenif the weather became warmer, not colder.

Cisincorrect as the temperatures over which weather can change are not likely to make the wire ire
brittle enough to break.

Disincorrect as the wire does contract, but, if anything, its resistance would decrease, as resistance
falls with temperature.
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e Thetotalenergy storedinside a systemis due to the particles that make up that system having
motion and positions relative to each other
o Thisistheinternal energy of a substance


https://www.savemyexams.com/members/
https://www.savemyexams.com/members/
https://www.savemyexams.com/join/
https://www.savemyexams.com/join/#faq
https://www.savemyexams.com/contact/
https://www.savemyexams.com/archive/
https://www.savemyexams.com/members/
https://www.savemyexams.com/members/account/
https://www.savemyexams.com/logout/?redirect=/igcse/physics/cie/23/topic-questions/2-thermal-physics/2-2-thermal-properties--temperature/-/multiple-choice-questions/medium/
https://www.savemyexams.com/about/
https://www.savemyexams.com/contact/
https://www.savemyexams.com/jobs/
https://www.savemyexams.com/terms/
https://www.savemyexams.com/privacy/
https://www.savemyexams.com/-/biology/
https://www.savemyexams.com/-/chemistry/
https://www.savemyexams.com/-/physics/
https://www.savemyexams.com/-/maths/
https://www.savemyexams.com/-/geography/
https://www.savemyexams.com/-/english-literature/
https://www.savemyexams.com/-/psychology/
https://www.tiktok.com/@_savemyexams
https://www.instagram.com/savemyexams/
https://www.facebook.com/SaveMyExamsUK/
https://twitter.com/SaveMyExams/
https://www.savemyexams.com/members/
https://www.savemyexams.com/gcse/
https://www.savemyexams.com/igcse/
https://www.savemyexams.com/as/
https://www.savemyexams.com/a-level/
https://www.savemyexams.com/o-level/
https://www.savemyexams.com/dp/
https://www.savemyexams.com/ap/

